= 1 R ;
(&0 54 6H%) =k 2~ B S B - M
£AE R WAEE | S - . T - S— i
AEnE| PHER | KER | KRR | s | SHE PHUERERHEAN AHR | SBTR|ses
78 |aF—#—x & 15,552 15,552 1
9H |[HmIEEEE 90,000
9l |ar—Ahor ks 1,524 1,524 2
27H v oh—tyys 1,408 1,408 3
A &t 90,000] 18484 18,484
2 &t 90,000 18,484 18,484

XK AARTRHELTIEZSLY,




= H & 5
(&3 5% 7HH) =ik o B % B - H
£AA o= WA | %HigE Ay — e
BEFRE| PR | LHR | KRR | aogy | SHER EHEREEHBAN ABE | $EFE |sws
18, |[FUrs—g2y - 5,850/ 5,850 4
1B [ERRE . 29,040 29,040} 5|
78 |38 —iU—x i - 15,552/ 15,552 6
108, |ar—h9orie, 1,801 . 1,801 7l
108 |#HES - 5,000 5,000} 8
10H | HESE 270,000
188 / |KBEPSLESLX 15,000 15,000/ 9
B &t 270,000} 72,243} 34,040 15,000 23,2083
= Ef 360,000 90,727 34,040 15,000 41,687

M A4RTRERELTIESLY,



5 '
. = A
I~ ﬁ'l' II]E y)
(%0 5% 8F %) k% N BEw BfHr oo H
1B = HHE
ZHA mR IRABE | Hi%E - -
mEmnE| WER | nHE | BBE | oart| fm# EaeneemAd AGR | SENE |ses
203 |[FEBE - 23,100 23,100 101
7H/ar—g)—z & - 15,552 15552 11
78/ |aE—hoobie” 2,937 2,937 12
7H /|BWLsEE 29,700 29,700| 13
A &t 71,289; 52,800 18,489
£ &t 360,000] 162,016, 34,040 67,800 60,176

X AR TRHBLTIZS0,



P = A
= &t & D
<30 5% 9H%A) =ikA »n B % HAL - [
18 =] e
FHE N = IRAZE | X8 ==
mamnn| BHEE | nek | BEE | Sapw| 2BE [EeessmemAd Asn |swmg|ses
6 |EBES / 094 |~ 004/ 14
78 /|ar—#)—x 8 15,5521 15,652 15
128 Jar—hobiis 3,672 3,672 16
A & 20,218 20,218
2 i 360,000 182,234} 34,040| 67.800] 80,394

XOAARTREL TS,




A = 5
= 5T & 5
(&F 54 10849 =P & ~n B 5E 1 XA
18 =l SN
£AH A = IWAZE | ZHEE =
mEwaE TR | mHR | KEE | sagls| SHE HGRETHEAN 4R | SETH |ews
10 Bl —ig—z ¢ 7 15,552 15,552 1%
108 |[BRISSHESZA 270,000
16 H|lar—hamo hES 3,399 3,399 18
208/ |F)B—Al - 9,550} 9,550, 19
B =t 270.000| 28,501) 285011,
R &t $30,000; 210,735 34,040 67,800 108,895

AL TRBELTESLY,



A = 5
ooy =) & 5
(& 54 11A%) 2RkA 7 B & HHL - B
N " H SEINE
£ H n IRABE | FHEE =T i
EEVRE WEE | hmE | KER %gﬁﬁ St EEERBEREAY AGE | EBTE =5
78 |aE—#U—X £ / 15,552 15,552 20
108 laE—AS e 7 12,2671, 12,267} 21
10 |HLEIE ~ 29,700 29,700} 99
27H |k BgL LR - 26,4001 26,4001 23
308 [FEER 23,100} 23,100 94
A &t 107,019 79,2001 27.819|/
=2 5 630,000 317,754 34,040| 147,000 136,714|/

¥ A4MCREHLTIEZSL,



& &
P = ;
= & & p
(5# 5% 12H4%) =R 2~ B 58 B H
; R
£AR m A IAEE | KHiEE H S i
AEHRE TEE | KRR | AEE |pagn| SHE RRERATHEAH AGE | SHme|sss
TH, [ —#)—2& 15,552V 15,552 . 251
88 |JoE—no b 4,325 4,325, 26
20, | FUrs—Ard 8,228} 8,228 2
B =t 28,105 28,106
2 &t 630,000] 345,859 34,040{ 147,000 164,819

X A4RRTIRELTIZE,



HP

N

(5% 6% 1HSH) » =
£5 A n B WA | % = noE
SBB PHERETHEAY ALR -
9 H. | FRIHE"Y — A £ (£65) 25,008} 25,009} 28
98 |ar—y—x - 15,552 15,552 29,
10 BB MIRIEHRE=2 44,000 44,000 30
11 Biat—hoorise 7 4,724 4,724¢ 31
118 [oF—m# ~ 13,158 13,158 32
HEANBE-HLT—F 2,402 2,402 33
156~ |8z & - 4,220\ 34
158 |BFEEEHE 270,000
188 . |EIL®IE ~ 29,700 35
A & 270,000| 138,765 60,845 44,0001
2 &t 900,000| 484,624 225,664} 44,000

P AARR TR L TS0,




O = .
= BT & 5
(%0 64 2B 7)) e &2 4 BH
B H SR
E£HH praant ]
mawne| HER | nur | GRS cun marEmnmsumad Asn —
TH [aE—#y—xit 7 15,552 15,5524 36
98 |aE—h S 9,931} 9,9317 37
238, /3vay 80,0001 80,000} 38
B & 105,483)/ 105,483
= s 590,107) 34,040} 180,920 331,147

¥ AARRTRELTIESN,



A = A
= ET 113 :
(¢F1 65 3B %) =IR%A B s Hf : H
18 =] fENE
£HA 7] = IRAZE | ZHI% o =
mEvRE WEE | GHR | KRE | o | SHE EOEREEHEAY AL |SEm s
5H |aF¥—horitse ~ 5,326 5,326 39
7H |ar—ig)—=4& / 15,5521 15,552 40}
118 |BETHRERE=% 66,000/ 66,000 4
258 |Fnszys-< 65,3951 65,395 49
258 |muzsius - 3,020/ 3,020 43
250 KBH3LRALR 26,400 26,400/ 44
260 |[MV-OFEREE - 31,900 31,900 45
260 |{FEEE / 23,100 23,100 46
B & 236,693 84 420F 65,3951 20,878| 66,000
2 & 900,000 826,800} 34,040| 265,340! 65,395 352,025} 110,000{

X A4RRTIEBLTESLY,



